1. List all elements of assurance engagement and explain them
2. Explain differences between types of assurance
3. Auditor’s rights and duties
4. Explain advantages of having an audit committee
5. Matters to be communicated to Those Charged With Governance (TCWG)
6. Fundamental principles of professional ethics and explanation of them
7. List 5 main threats to independence and explain them
8. List main reasons of self-interest threat
9. Describe when the audit company or member of assurance team could take loan from its audit Client
10. Why overdue fees is considered as threat to independence and how the audit company can minimize the risk
11. List main reasons of self-review threat
12. Explain what is Public Interest Entities
13. Main distinctions between internal and external audit
14. Clarify three E’s of Value for Money audits
15. List examples of internal audit assignments 
16. Advantages and disadvantages of outsourcing internal audit function
17. Explain professional skepticism of the auditor
18. What is professional judgement and areas of application during audit
19. Explain what is audit risk and the difference with business risk
20. Clarify inherent and control risks
21. Explain what is detection risk
22. What is materiality for the financial statements as a whole and why we need it
23. Explain what is and why we use performance materiality
24. Why do we need understanding of the entity and its environment?
25. What is fraud and types of fraud causing material misstatement in the financial statements
26. Explain financial statement assertions and list main assertions for P&L accounts (classes of transactions and events and related disclosures)
27. Explain financial statement assertions and list main assertions for BS accounts (account balances and related disclosures)
28. Explain sufficiency and appropriateness of audit evidence and which audit evidence is more reliable
29. List and explain main procedures to obtain audit evidence
30. Explain audit estimate, estimation uncertainty, management’s point estimate and auditor’s point estimate
31. Explain accounting estimates with examples
32. Audit sampling, statistical and non-statistical sampling
33. Explain sampling risk, non-sampling risk, sampling unit and stratification
34. Types of audit sampling
35. Explain cost and NRV of Inventory balance
36. The physical inventory count and 3 timings of inventory count
37. Positive and negative confirmations
38. Explain provision, liability and obligating event
39. Explain contingent liability and contingent asset
40. Explain subsequent events and types of such events
41. Audit procedures for testing subsequent events
42. Explain 2 assumptions for financial statement preparation
43. List main events that could cast doubt over the going concern assumption
44. Describe scenarios for going concern assumption and explain its impact over auditor’s report
45. Written representations from Management
46. What is overall review of financial statements and which topics should it cover
47. Treatment of misstatements
48. Auditor’s report and basic elements of it
49. Key audit matters
50. Emphasis of matter and other matter paragraphs in the auditor’s report
51. Modified opinions in auditor’s reports
52. Qualified opinion
53. Adverse opinion
54. Disclaimers of opinion
55. Reports to management

56. See below case and state 5 main threats to independence and give a brief explanation:
You are an audit manager of Ali & Co and have just been assigned the audit of Stark Co (Stark). Stark, a PIE, provides investment advice to individuals, and is regulated by the relevant financial conduct authority. 
Mr Day, a partner in Ali & Co, has been the audit engagement partner for Stark for the previous nine years and has excellent knowledge of the client. Mr Day has informed you that he would like his daughter Zoe to be part of the audit team this year. 
In an initial meeting with the finance director of Stark, you learn that the audit team will not be entertained on Stark's yacht this year, instead, he has arranged a balloon flight costing less than one-tenth of the expense of using the yacht and hopes this will be acceptable. 
Stark has also asked Ali & Co to help them in recruiting a new non-executive director.
Ali & Co has always carried out tax advisory work for Stark. The tax advisory services do not have an impact on the figures reported in the financial statements. The finance director has stated that he feels strongly that the firm that offers taxation services this year should charge a fee which is based on a percentage of tax saved. He also trusts that your firm will accept a fixed fee for representing Stark in a dispute regarding the amount of sales tax payable to the taxation authorities.

57.  See below case and state 5 main threats to independence and give a brief explanation:
You are the audit manager of Jones & Co and you are planning the audit of LV Fones Co, a PİE, which has been an audit client for four years and specialises in manufacturing luxury mobile phones. 
During the planning stage of the audit you have obtained the following information. The employees of LV Fones Co are entitled to purchase mobile phones at a discount of 10%. The audit team has in previous years been offered the same level of staff discount. 
During the year the financial controller of LV Fones was ill and hence unable to work. The company had no spare staff able to fulfil the role and hence a qualified audit senior of Jones & Co was seconded to the client for three months. The audit partner has recommended that the audit senior work on the audit as he has good knowledge of the client. The fee income derived from LV Fones was boosted by this engagement and along with the audit and tax fee, now accounts for 16% of the firm’s total fees. 
From a review of the correspondence files you note that the partner and the finance director have known each other socially for many years and in fact went on holiday together last summer with their families. As a result of this friendship the partner has not yet spoken to the client about the fee for last year’s audit, 20% of which is still outstanding.

58. See below case and state 5 main threats to independence and give a brief explanation:
You are the audit manager of Currant & Co and you are planning the audit of Orange Financials Co (Orange), who specialise in the provision of loans and financial advice to individuals and companies. Currant & Co has audited Orange for many years. 
The directors are planning to list Orange on a stock exchange within the next few months and have asked if the engagement partner can attend the meetings with potential investors. In addition, as the finance director of Orange is likely to be quite busy with the listing, he has asked if Currant & Co can produce the financial statements for the current year. 
Once Orange obtains its stock exchange listing it will require several assignments to be undertaken, for example, obtaining advice about corporate governance best practice. Currant & Co is very keen to be appointed to these engagements, however, Orange has implied that in order to gain this work Currant & Co needs to complete the external audit quickly and with minimal questions/issues. 
The finance director has informed you that once the stock exchange listing has been completed, he would like the engagement team to attend a weekend away at a luxury hotel with his team, as a thank you for all their hard work. In addition, he has offered a senior member of the engagement team a short-term loan at a significantly reduced interest rate.

59. See below case and state 5 main threats to independence and give a brief explanation:
Salt & Pepper & Co (‘Salt & Pepper’) is a firm of Chartered Certified Accountants which has seen its revenue decline steadily over the past few years. The firm is looking to increase its revenue and client base.
Salt & Pepper has offered all new audit clients a free accounts preparation service for the first year of the engagement, as it is believed that time spent on the audit will be reduced if the firm has produced the financial statements. 
One of Salt & Pepper’s existing clients has proposed that this year’s audit fee should be based on a percentage of their final pre-tax profit. The partners are excited about this option as they believe it will significantly increase the overall audit fee from this client. 
Salt & Pepper has recently negotiated with a new potential audit client, Cinnamon Brothers Co (Cinnamon), whose year end is 31 December. Salt & Pepper is very keen to be appointed to the engagement, however,Cinnamon requires their audit to be completed by the end of February with minimal questions/issues. Also, Cinnamon asked Salt & Pepper to help them in recruiting a new non-executive director.

60. See below case and state 5 main threats to independence and explain how to mitigate them:
You are an audit manager of Ali & Co and have just been assigned the audit of Stark Co (Stark). Stark, a PIE, provides investment advice to individuals, and is regulated by the relevant financial conduct authority. Mr Day, a partner in Ali & Co, has been the audit engagement partner for Stark for the previous nine years and has excellent knowledge of the client. Mr Day has informed you that he would like his daughter Zoe to be part of the audit team this year. 
In an initial meeting with the finance director of Stark, you learn that the audit team will not be entertained on Stark's yacht this year, instead, he has arranged a balloon flight costing less than one-tenth of the expense of using the yacht and hopes this will be acceptable. 
Stark has also asked Ali & Co to help them in recruiting a new non-executive director.
Ali & Co has always carried out tax advisory work for Stark. The tax advisory services do not have an impact on the figures reported in the financial statements. The finance director has stated that he feels strongly that the firm that offers taxation services this year should charge a fee which is based on a percentage of tax saved. He also trusts that your firm will accept a fixed fee for representing Stark in a dispute regarding the amount of sales tax payable to the taxation authorities.

61. See below case and state 5 main threats to independence and explain how to mitigate them:
You are the audit manager of Jones & Co and you are planning the audit of LV Fones Co, a PİE, which has been an audit client for four years and specialises in manufacturing luxury mobile phones. 
During the planning stage of the audit you have obtained the following information. The employees of LV Fones Co are entitled to purchase mobile phones at a discount of 10%. The audit team has in previous years been offered the same level of staff discount. 
During the year the financial controller of LV Fones was ill and hence unable to work. The company had no spare staff able to fulfil the role and hence a qualified audit senior of Jones & Co was seconded to the client for three months. The audit partner has recommended that the audit senior work on the audit as he has good knowledge of the client. The fee income derived from LV Fones was boosted by this engagement and along with the audit and tax fee, now accounts for 16% of the firm’s total fees. 
From a review of the correspondence files you note that the partner and the finance director have known each other socially for many years and in fact went on holiday together last summer with their families. As a result of this friendship the partner has not yet spoken to the client about the fee for last year’s audit, 20% of which is still outstanding.

62. See below case and state 5 main threats to independence and explain how to mitigate them:
You are the audit manager of Currant & Co and you are planning the audit of Orange Financials Co (Orange), who specialise in the provision of loans and financial advice to individuals and companies. Currant & Co has audited Orange for many years. 
The directors are planning to list Orange on a stock exchange within the next few months and have asked if the engagement partner can attend the meetings with potential investors. In addition, as the finance director of Orange is likely to be quite busy with the listing, he has asked if Currant & Co can produce the financial statements for the current year. 
Once Orange obtains its stock exchange listing it will require several assignments to be undertaken, for example, obtaining advice about corporate governance best practice. Currant & Co is very keen to be appointed to these engagements, however, Orange has implied that in order to gain this work Currant & Co needs to complete the external audit quickly and with minimal questions/issues. 
The finance director has informed you that once the stock exchange listing has been completed, he would like the engagement team to attend a weekend away at a luxury hotel with his team, as a thank you for all their hard work. In addition, he has offered a senior member of the engagement team a short-term loan at a significantly reduced interest rate.

63. See below case and state 5 main threats to independence and explain how to mitigate them:
Salt & Pepper & Co (‘Salt & Pepper’) is a firm of Chartered Certified Accountants which has seen its revenue decline steadily over the past few years. The firm is looking to increase its revenue and client base.
Salt & Pepper has offered all new audit clients a free accounts preparation service for the first year of the engagement, as it is believed that time spent on the audit will be reduced if the firm has produced the financial statements. 
One of Salt & Pepper’s existing clients has proposed that this year’s audit fee should be based on a percentage of their final pre-tax profit. The partners are excited about this option as they believe it will significantly increase the overall audit fee from this client. 
Salt & Pepper has recently negotiated with a new potential audit client, Cinnamon Brothers Co (Cinnamon), whose year end is 31 December. Salt & Pepper is very keen to be appointed to the engagement, however,Cinnamon requires their audit to be completed by the end of February with minimal questions/issues. Also, Cinnamon asked Salt & Pepper to help them in recruiting a new non-executive director.

64. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		

Non-current assets
Property and equipment, net	120,000		Revenue			180,000
Intangible assets, net		15,000			Cost of sales			(120,000)
Current assets						Gross Profit			60,000
Inventory			3,000
Cash				4,000			G&A expenses			(25,000)
Trade receivables		25,000			Selling expenses		(18,000)
Prepayments			1,000			Operating profit		17,000

Total Assets			168,000		Interest expense		(5,000)
							Profit before tax		12,000
Non-current liabilities
Loan				60,000			Income tax expense		(7,000)
Current liabilities					Net profit			5,000
Trade payables			36,000
Taxes payable			12,000

Equity
Ordinary shares, 4$ each	40,000
Retained earnings		20,000

Total Equity and liabilities	168,000


The Company declared 5c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

65. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):
You are an audit senior of IBN & Co and you are planning the audit of Mason Air Services (Mason) for the year ended 31 December 20X3. Mason is a company that provides specialist helicopter support to the police force, the ambulance service, the fire service and the coastguard. Each of Mason’s four contracts is equal in value. Mason owns and maintains the helicopter fleet which is held at cost. Each aircraft carries specialist equipment and is operated by a highly skilled specialist pilot.
Mason has secured a five year contract with each of its four customers. The contracts in place are all of equal value. Under the terms of the contract Mason charges customers an annual fee to cover the maintenance, storage and testing of the aircraft and equipment. The annual fee is payable in advance each year with the first annual payment being paid on the date the contract commences.
During the year to 31 December 20X3 there has been a lot of re-fitting, replacement and adding of specialist equipment to some of the existing aircraft. This has been necessary to keep up with the latest developments in search and rescue, and to maintain the aircraft to the high standard required under the contracts in place. 
Furthermore, the directors have told you that Mason’s contract with the police force expires in March 20X4, at a time when the police are trying to substantially reduce the amount they pay in the wake of government cuts. It is thought that the contract will be put out to tender, and it is possible that another aircraft provider may also bid for the contract.
Mason also holds around $2 million of aircraft spares which are included within inventory. Mason sells the aircraft spares to amateur flying associations. Aircraft spares which are not sold after three years are scrapped. Approximately a quarter of this value is made up of specialist equipment taken out of aircraft when it was replaced by newer or more advanced equipment. Such specialist equipment is transferred from non-current assets to inventory without adjustment, and continue to be recognised at amortised cost.
66. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		
Non-current assets
Property and equipment, net	80,000			Revenue			150,000
Intangible assets, net		20,000			Cost of sales			(90,000)
Current assets						Gross Profit			60,000
Inventory			4,000
Cash				6,000			G&A expenses			(15,000)
Trade receivables		27,000			Selling expenses		(18,000)
Prepayments			2,000			Operating profit		27,000

Total Assets			139,000		Interest expense		(7,000)
							Profit before tax		20,000
Non-current liabilities
Loan				50,000			Income tax expense		(6,000)
Current liabilities					Net profit			14,000
Trade payables			26,000
Taxes payable			3,000

Equity
Ordinary shares, 2$ each	40,000
Retained earnings		20,000

Total Equity and liabilities	139,000


The Company declared 4c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

67. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):
You are an audit senior for Mills & Co and you are planning the audit of Sleeptight Co for the year ended 31 March 20X0.
Sleeptight's principal activity is the manufacture and sale of expensive high quality beds which are largely sold to luxury hotels and owners of holiday apartments. 
Sleeptight requires customers who place an order to pay a deposit of 40% of the total order value at the time the order is placed. The beds will take 4 to 8 weeks to build, and the remaining 60% of the order value is due within a week of the final delivery. Risks and rewards of ownership of the beds do not pass to the customer until the beds are delivered and signed for. 
Beds also come with a two year guarantee and the financial controller has made a provision in respect of the expected costs to be incurred in relation to beds still under guarantee.
Although the company does have some employees working in the workshop, it often uses external subcontractors to help make the beds in order to fulfil all its orders. These sub-contractors should invoice Sleeptight at the end of each month for the work they have carried out, but sometimes do not get round to it until the following month.
The company undertakes a full count of raw materials at the year end. The quantities are recorded on inventory sheets and the financial controller assigns the costs based on the cost assigned in the previous year or, if there was no cost last year, using the latest invoice. Most beds are made of oak or other durable woods and the cost of these raw materials is known to fluctuate considerably.
68. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		
Non-current assets
Property and equipment, net	60,000			Revenue			120,000
Intangible assets, net		10,000			Cost of sales			(70,000)
Current assets						Gross Profit			50,000
Inventory			4,000
Cash				6,000			G&A expenses			(15,000)
Trade receivables		17,000			Selling expenses		(19,000)
Prepayments			2,000			Operating profit		16,000

Total Assets			99,000			Interest expense		(7,000)
							Profit before tax		9,000
Non-current liabilities
Loan				30,000			Income tax expense		(6,000)
Current liabilities					Net profit			3,000
Trade payables			16,000
Taxes payable			3,000

Equity
Ordinary shares, 1$ each	30,000
Retained earnings		20,000

Total Equity and liabilities	99,000


The Company declared 5c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

69. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):
You are an audit senior of IBN & Co and you are planning the audit of Mason Air Services (Mason) for the year ended 31 December 20X3. Mason is a company that provides specialist helicopter support to the police force, the ambulance service, the fire service and the coastguard. Each of Mason’s four contracts is equal in value. Mason owns and maintains the helicopter fleet which is held at cost. Each aircraft carries specialist equipment and is operated by a highly skilled specialist pilot.
Mason has secured a five year contract with each of its four customers. The contracts in place are all of equal value. Under the terms of the contract Mason charges customers an annual fee to cover the maintenance, storage and testing of the aircraft and equipment. The annual fee is payable in advance each year with the first annual payment being paid on the date the contract commences.
During the year to 31 December 20X3 there has been a lot of re-fitting, replacement and adding of specialist equipment to some of the existing aircraft. This has been necessary to keep up with the latest developments in search and rescue, and to maintain the aircraft to the high standard required under the contracts in place. 
Furthermore, the directors have told you that Mason’s contract with the police force expires in March 20X4, at a time when the police are trying to substantially reduce the amount they pay in the wake of government cuts. It is thought that the contract will be put out to tender, and it is possible that another aircraft provider may also bid for the contract.
Mason also holds around $2 million of aircraft spares which are included within inventory. Mason sells the aircraft spares to amateur flying associations. Aircraft spares which are not sold after three years are scrapped. Approximately a quarter of this value is made up of specialist equipment taken out of aircraft when it was replaced by newer or more advanced equipment. Such specialist equipment is transferred from non-current assets to inventory without adjustment, and continue to be recognised at amortised cost.
70. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		
Non-current assets
Property and equipment, net	55,000			Revenue			100,000
Intangible assets, net		15,000			Cost of sales			(65,000)
Current assets						Gross Profit			35,000
Inventory			6,000
Cash				8,000			G&A expenses			(11,000)
Trade receivables		15,000			Selling expenses		(10,000)
Prepayments			2,000			Operating profit		14,000

Total Assets			101,000		Interest expense		(4,000)
							Profit before tax		10,000
Non-current liabilities
Loan				25,000			Income tax expense		(2,000)
Current liabilities					Net profit			8,000
Trade payables			14,000
Taxes payable			2,000

Equity
Ordinary shares, 2$ each	40,000
Retained earnings		20,000

Total Equity and liabilities	101,000


The Company declared 10c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

71. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):
You are an audit senior for Mills & Co and you are planning the audit of Sleeptight Co for the year ended 31 March 20X0.
Sleeptight's principal activity is the manufacture and sale of expensive high quality beds which are largely sold to luxury hotels and owners of holiday apartments. 
Sleeptight requires customers who place an order to pay a deposit of 40% of the total order value at the time the order is placed. The beds will take 4 to 8 weeks to build, and the remaining 60% of the order value is due within a week of the final delivery. Risks and rewards of ownership of the beds do not pass to the customer until the beds are delivered and signed for. 
Beds also come with a two year guarantee and the financial controller has made a provision in respect of the expected costs to be incurred in relation to beds still under guarantee.
Although the company does have some employees working in the workshop, it often uses external subcontractors to help make the beds in order to fulfil all its orders. These sub-contractors should invoice Sleeptight at the end of each month for the work they have carried out, but sometimes do not get round to it until the following month.
The company undertakes a full count of raw materials at the year end. The quantities are recorded on inventory sheets and the financial controller assigns the costs based on the cost assigned in the previous year or, if there was no cost last year, using the latest invoice. Most beds are made of oak or other durable woods and the cost of these raw materials is known to fluctuate considerably.
72. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		
Non-current assets
Property and equipment, net	55,000			Revenue			160,000
Intangible assets, net		15,000			Cost of sales			(100,000)
Current assets						Gross Profit			60,000
Inventory			8,000
Cash				8,000			G&A expenses			(15,000)
Trade receivables		20,000			Selling expenses		(16,000)
Prepayments			2,000			Operating profit		29,000

Total Assets			108,000		Interest expense		(4,000)
							Profit before tax		25,000
Non-current liabilities
Loan				25,000			Income tax expense		(7,000)
Current liabilities					Net profit			18,000
Trade payables			18,000
Taxes payable			2,000

Equity
Ordinary shares, 4$ each	40,000
Retained earnings		23,000

Total Equity and liabilities	108,000


The Company declared 70c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

73. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):

You are the audit supervisor of Maple & Co and are currently planning the audit of an existing client, Sycamore Science Co (Sycamore), whose year end was 30 April 20X5. Sycamore is a pharmaceutical company, which manufactures and supplies a wide range of medical supplies. The draft financial statements show revenue of $35.6 million and profit before tax of $5.9 million.

During the year Sycamore has spent $1.8 million on developing several new products. These projects are at different stages of development and the draft financial statements show the full amount of $1.8 million within intangible assets. 

In order to fund this development, $2.0 million was borrowed from the bank and is due for repayment over a ten-year period. The bank has attached minimum profit targets as part of the loan covenants.

The new finance director has informed the audit partner that since the year end there has been an increased number of sales returns and that in the month of May over $0.5 million of goods sold in April were returned. 

Maple & Co attended the year-end inventory count at Sycamore’s warehouse. The auditor present raised concerns that during the count there were movements of goods in and out the warehouse and this process did not seem well controlled.

74. See below financial statement and calculate ROCE (Return on capital employed), Average receivable collection period, Inventory turnover period, Earnings per share and Dividend cover:

Statement of Balance sheet				Statement of Profit or Loss		
Non-current assets
Property and equipment, net	70,000			Revenue			125,000
Intangible assets, net		12,000			Cost of sales			(95,000)
Current assets						Gross Profit			30,000
Inventory			12,000
Cash				9,000			G&A expenses			(8,000)
Trade receivables		24,000			Selling expenses		(7,000)
Prepayments			2,000			Operating profit		15,000

Total Assets			129,000		Interest expense		(4,000)
							Profit before tax		11,000
Non-current liabilities
Loan				30,000			Income tax expense		(3,000)
Current liabilities					Net profit			8,000
Trade payables			25,000
Taxes payable			3,000

Equity
Ordinary shares, 3$ each	45,000
Retained earnings		26,000

Total Equity and liabilities	129,000


The Company declared 25c dividend per share as a result of Shareholder Meeting decision.
The Company did not declare sales of ordinary shares during the year.

75. See below case and state 4 main audit risks to be identified (4 points).
Identify accounts and assertions to be affected be these audit risks (1 point):

Recorder Communications Co (Recorder) is a large mobile phone company which operates a network of stores in countries across Europe. The company’s year end is 30 June 20X4. You are the audit senior of Piano & Co.

Recorder purchases goods from a supplier in South Asia and these goods are shipped to the company’s central warehouse. The goods are usually in transit for two weeks and the company correctly records the goods when received. Recorder does not undertake a year-end inventory count, but carries out monthly continuous (perpetual) inventory counts and any errors identified are adjusted in the inventory system for that month.

During the year the company introduced a bonus based on sales for its sales persons. The bonus target was based on increasing the number of customers signing up for 24-month phone line contracts. This has been successful and revenue has increased by 15%, especially in the last few months of the year. The level of receivables is considerably higher than last year and there are concerns about the creditworthiness of some customers.

Recorder has a policy of revaluing its land and buildings and this year has updated the valuations of all land buildings.

[bookmark: _GoBack]During the year the directors have each been paid a significant bonus, and they have included this within wages and salaries. Separate disclosure of the bonus is required by local legislation.
